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Converting Measurements

SI                    IMPERIAL
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1m = 3.2808ft

Please Add the following:
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Determine the following:

a)  15 m = _______ yd

b)  29 mi = _______ km

c)  49 ft = _______ m

You may use
 ratios 
or the

 conversion factor.
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a)  15 m = _______ yd
Conversion Factor want

have

yd
m

 1.0936 
      1 1.0936  

      1
15 x 

16.404 yd
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Conversion Factor want
have

km
mi

 1.6093 
     1  1.6093  

      1
29 x 

46.67 km

b)  29 mi = _______ km

46.6697
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Conversion Factor want
have

m
ft

     1    
3.2808    1      

3.2808
49 x 

14.94 m

     49    
 3.2808

c)  49 ft = _______ m
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a)  What is the total amount of carpeting needed?

b) How much will it cost?

Hint:

Convert the ft to m pronto!!
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a)  What is the total amount of carpeting needed?

b) How much will it cost?

Hint:
Convert the ft to m pronto!!

12 ft

15 ft 12 x    1      
        3.2808
3.66 m

3.66 m

15 x    1      
        3.2808

4.57 m

4.57 m
A = L x W

A = 3.66 x 4.57

A = 16.73 m2

17  x $24.99
$424.83

17 m2
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Check out page 159.
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